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And I can say, what does 77397 mean; a division - NDAWD 5739777 98 N2INR)

OVERVIEW

The X3 originally interpreted ¥ 1 to mean a wall. After the X7 showed that
this is based on a ¥n>12 (and inferring from this translation that 7w X? X P
P1n), the X3 challenges this assumption and declares that 7%’ should mean a
(property) division. There is seemingly no basis for this challenge; on the contrary
the accepted translation of '7¥°1n' universally, is a wall. NM1901n deals with this issue.
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The >''9 explains; because on the translation that 7¥°nn refers to a wall, there

are many difficulties as the X713 will shortly ask. The x 3 asks many questions on
the interpretation that 7¥°m» means a wall. This interpretation of X713 requires us to assume
that pra nw X% %0 pra.’ The X cites many sources which indicate that 7w XY P
P
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Therefore, on account of these questions, the X3 forces itself to awkwardly
interpret the word 73’1 to mean a division, even though that everywhere the

meaning of 'nxsnn' is a wall. It is preferable to compromise the literal meaning, and
conform to all the cited sources, than having a proper translation but (seemingly) contradicting
all the cited sources.

SUMMARY

The X 3 challenges the assumption that 7% means XTA. According to that
assumption, we will maintain that P15 7°X7 X? 70w prn. There are many sources
which indicate that 7nw 1°7 7"7. Therefore it is preferable to interpret 7% M to
mean a division, thereby maintaining that; P17 72w "7 Even though this
interpretation runs contrary to the usual interpretation of the word 7% 7.

! Why does the X113 want to reinterpret the word 7%n7 to mean a division, as opposed to the original interpretation
that 7¥°m7 is a dividing wall. The word %' generally refers to a wall, not to a division.

2 The x»3 on this Ty asks many questions on the opinion that 7"%% 2" from many n11wn and a X", MdOIN has
previously stated (71720 7"7 '& T1Y), that the answers to these challenges are unconvincing.

3 See the 83 immediately preceding this 'RnR1'.

4 The X3 presents its opposition to XT3 %17 and offers the alternate that Xna1?5 7¥n» immediately after the X773
inferred that if X712 7¥°n» then 7"w% 2"7. This may indicate that the opposition was not to the translation itself, but
rather what is inferred from the translation, namely that 7"w% 2"7.
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THINKING IT OVER

1. Why can we not say that the reason the X713 wants to say 8na1%5 7¥°1» is because
if X712 7%°17 then it should have said "\nX 1°112' instead of ">nM1277 NX 1°112, as the X723
asks? Or 1s this also included in the 'nyp 712', that Moo refers to?

2. What does this m01n teach us as to the relative strengths of 975 versus v19?
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